VEMKMA1344B-A1, Probability theory (english),  

2013-05-10. 


In each solution give the type of the distribution used ! 
  1)  A cake of  1000 gr  contains 27 raisins. My slice is 190 gr.  What probability contains my slice exactly 8 raisins ? 








 10 pt
  2)  A kind of attack has success with 37% .  Each attack has independent effect. 

a)  What is the (cumulative) rate of 7 consecutive attacks?  



   8 pt

b)  How many attacks are needed for success at least 90% ? 



   7 pt

  3)  At a petrol station we have to wait more than 6 mins in 30% of cases. 

a) What is the average waiting time? 






   8 pt

b) Give an interval in which we are served by 90%. 




   7 pt

  4)  30 gr ±6 gr is printed on the wrapping on Balaton chocolate. What chance can I find one weighting more than 40gr ? 








 10 pt

  5)  A machine faults 1:2000  when preparing a toy.  What probability contains a packet of 5000 toys, bad toys at least 100 but no more than 200 pieces ? 
   Use the Moivre-Laplace theorem for your calculations! 




 10 pt

  6)  The results of some measurements are shown in the table. Calculate the common and separate ("side") distributions of ( and (, detect their independence, calculate their (common and separate) means, covarience and correlation coefficient  (R) . 

  Give the conclusion in your words, too ! 





    20p
	η \ ξ 
	   3
	   5
	   6
	   8

	     2 
	 22 
	  16
	  14
	  13

	     1 
	 23
	  19
	  18
	  20

	   - 2 
	 13
	  14
	  15
	  11


  7)  Definition:  Give complete description (both in mathematical and in everyday language) of normal distributions. 








 10 pt
  8)  Theorem:  Give (in mathematical form) and explain (in your words)  Tschebyseff's Weak Law of Large Numbers  (on the connection of mean and expected value).


5+5pt 
Total: 100 pts 

